

### Missouri Department of Transportation **Contractor's Pay Estimate Summary**

Pay Estimate Created Date: May 3, 2021

Progress Estimate 28	Number	Contract ID Prime Contra		200117-A02 Widel, Inc.		eriod Start eriod End	April 16, 20 May 1, 202	1 Net	ginal Contract Amount t Change Order Amount rrent Contract Amount	\$1,382,931.70 \$207,613.97 \$1,590,545.67			
Approval Date	pproval Date												
May 4, 2021		at the Project Office Level by	frandt1										
May 4, 2021	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Leve									gillej			
May 4, 2021	Reviewed and Approved at the Central Office Controllers Office Lev								e Controllers Office Level by	e Level by ramses1			
Original Completion	Date	Current Cor	mpletio	n Date	Actu	ial Completion	on Date	9	6 of Current Contract Amou	nt Complete			
December 1, 202	20	March	15, 202	1					97.45%				
	Contract I	nformational Dat	tes			N	Milestones						
Date Description	Original C	ompletion Date	Currer	nt Completio	n Date	No Milestor	nes Exist for 0	Contract					
Acceptance Date													
Awarded Date	February 5	5, 2020	Februa	ary 5, 2020									
Letting Date	January 17	7, 2020	Januar	y 17, 2020									
Notice to Proceed Date	March 9, 2	020	March	9, 2020									

Contract Total Pay For Estimate No. 28			
	This Estimate	Previous	To Date
200117-A02			
Total Posted Items Pay	\$40,662.90	\$1,509,330.97	\$1,549,993.87
Gross Item Adjustments	\$17,051.50	(\$29,727.60)	(\$12,676.10)
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damage	(\$11,500.00)	(\$52,900.00)	(\$64,400.00)
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
		\$1,426,703.37	\$1,472,917.77
Contract Total Payable This Estimate:	\$46,214.40		

March 10, 2020

### Items Paid This Estimate Period

Open to Traffic Date Work Began Date

March 10, 2020

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount		
J1S3140	0030	2031000	CLASS A EXCAVATION	CUYD	\$4.000	110	\$440.00		
	0040	2035500	EMBANKMENT IN PLACE	CUYD	\$17.000	2,039	\$34,663.00		
	0050	2036000	COMPACTING EMBANKMENT	CUYD	\$2.500	244	\$610.00		
	0190	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.700	2,450	\$1,715.00		
	0280	9031250A	U-CHANNEL POST, 3 LB	LF	\$26.300	123	\$3,234.90		
Project J1S	3140 - Tota	ıl					\$40,662.90		
Overall - Total									

## Contract Adjustments This Estimate

Adj Type	Entered By	Comments	Time Units	Rate	Amount
OTHRLiquidated Damage	frandt1	Contractor is being charged Liquidated Damages for Road User and Contract Administration Costs for a total of 5 days, excluding weekends. (April 16, 19, 20, 21, 22)	-23	\$500.00	(\$11,500.00)
Overall - Total					(\$11,500.00)

Overall - Total These amounts are listed in the Incentive, Disincentive, Liquidated Damages or Other Contract Adjustments

ine Item Adjustments This Estimate

Page 1 of 10 Revision 4/1/2020



## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 3, 2021

Prog						Pay Period Start Pay Period End	April 16, 2021 May 1, 2021	Net Change	ontract Amou e Order Amou ntract Amou	unt \$207	\$1,382,931.70 \$207,613.97 \$1,590,545.67	
Project Number	Line No.	Item Description	on	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount	
J1S3140	0030	CLASS A EXCA	AVATION	Price			e Item Price Adjus ustment Type app		110	\$0.01	\$1.54	
	0040	EMBANKMENT IN	N PLACE	Price			e Item Price Adjus ustment Type app		2,039	\$0.02	\$49.96	
	0040	EMBANKMENT IN	N PLACE	MaterialCredit					1,000	\$17.00	\$17,000.00	
	0060		MISC.	MaterialCredit					329	\$38.10	\$12,534.90	
	0060		MISC.	Material					-329	\$38.10	(\$12,534.90)	
Total											\$17,051.50	

Revision 4/1/2020 Page 2 of 10



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Information	1						
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
J1S3140	FAS S101(26)	Bridge replacement	PP	SULLIVAN	0.2 miles east outer Rou	te 139 near Osgood over e	ast Medicine Creek Drainage Ditch						
Totals by J	Job Numbe	ers											
J1S3140	D t.	d Maria Davi			This Estimate	Previous	To Date						
		d Item Pay Item Adjustm			\$40,662.90 \$17,051.50	\$1,509,330.97 (\$29,727.60)	\$1,549,993.87 (\$12,676.10)						
			Gross	Item Pay	\$57,714.40	\$1,479,603.37	\$1,537,317.77						
	Incen	tive centive			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00						
	Liquid	dated Damages			(\$11,500.00)	(\$52,900.00)	(\$64,400.00)						
	Other	Contract Adju	ıstments		\$0.00	\$0.00	\$0.00						

Revision 4/1/2020 Page 3 of 10



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J1S3140, Item 3049910, Project Item Line Number 0060, Material Set 304991096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Waiting on contractor sample reports.	frandt1	Acknowledged

Revision 4/1/2020 Page 4 of 10



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
200117-A02	J1S3140	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$2,150.00	\$2,150.00
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$1,300.00	\$1,300.00
		0001	0030	2031000	CLASS A EXCAVATION	410.00	0.00	410.00	CUYD	410.00	\$4.00	\$1,640.00
		0001	0040	2035500	EMBANKMENT IN PLACE	3,039.00	0.00	3,039.00	CUYD	3,039.00	\$17.00	\$51,663.00
		0001	0050	2036000	COMPACTING EMBANKMENT	244.00	0.00	244.00	CUYD	244.00	\$2.50	\$610.00
		0001	0060	3049910	MISC.TYPE 1 AGGREGATE	405.00	0.00	405.00	TONS	329.00	\$38.10	\$12,534.90
		0001	0070	3101003	GRAVEL (A)	238.00	0.00	238.00	SQYD	0.00	\$11.75	\$0.00
		0001	0080	4019905	MISC.Optional Pavement	2,113.80	0.00	2,113.80	SQYD	2,113.80	\$67.40	\$142,470.12
		0001	0090	6113020	FURNISHING TYPE 2 ROCK BLANKET	588.00	0.00	588.00	CUYD	495.00	\$39.00	\$19,305.00
		0001	0100	6113040	PLACING TYPE 2 ROCK BLANKET	588.00	0.00	588.00	CUYD	495.00	\$10.60	\$5,247.00
		0001	0110	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$760.00	\$0.00
		0001	0120	6161005	CONSTRUCTION SIGNS	125.00	0.00	125.00	SQFT	125.00	\$10.90	\$1,362.50
		0001	0130	6161008	ADVANCED WARNING RAIL SYSTEM	5.00	0.00	5.00	EA	5.00	\$38.00	\$190.00
		0001	0140	6161009	FLAG ASSEMBLY	5.00	0.00	5.00	EA	5.00	\$21.75	\$108.75
		0001	0150	6161030	TYPE III MOVEABLE BARRICADE	8.00	0.00	8.00	EA	8.00	\$160.00	\$1,280.00
		0001	0160	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	0.00	\$3,260.00	\$0.00
		0001	0170	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$64,900.00	\$0.00
		0001	0171	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$30,327.00	\$30,327.00
		0001	0180	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	1.00	0.00	1.00	EA	0.00	\$600.00	\$0.00
		0001	0190	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,492.00	0.00	2,492.00	LF	2,450.00	\$0.70	\$1,715.00
		0001	0200	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	883.00	0.00	883.00	SQYD	142.00	\$3.30	\$468.60
		0001	0210	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.50	\$26,960.00	\$13,480.00
		0001	0220	7250424	24 IN. PIPE GROUP C	41.00	0.00	41.00	LF	41.00	\$34.40	\$1,410.40
		0001	0230	8051000A	SEEDING - COOL SEASON MIXTURES	1.00	0.00	1.00	ACRE	0.00	\$2,720.00	\$0.00
		0001	0240	8061016	SEDIMENT REMOVAL	19.00	0.00	19.00	CUYD	0.00	\$40.00	\$0.00
		0001	0250	8061017	TEMPORARY SEEDING AND MULCHING	0.10	0.00	0.10	ACRE	0.00	\$10,870.00	\$0.00
		0001	0260	8061019	SILT FENCE	1,912.00	11.00	1,923.00	LF	1,923.00	\$2.50	\$4,807.50
		0001	0270	8061050	TYPE C BERM	325.00	0.00	325.00	LF	300.00	\$10.00	\$3,000.00
		0040	0280	9031250A	U-CHANNEL POST, 3 LB	123.00	0.00	123.00	LF	123.00	\$26.30	\$3,234.90
		0040	0290	9035004A	SH-FLAT SHEET	36.00	0.00	36.00	SQFT	0.00	\$23.20	\$0.00
		0070	0300	2061000	CLASS 1 EXCAVATION	70.00	0.00	70.00	CUYD	70.00	\$5.50	\$385.00
		0070	0310	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$47,600.00	\$47,600.00
		0070	0320	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	110.00	0.00	110.00	SQYD	110.00	\$215.80	\$23,738.00
		0070	0330	7011106	DRILLED SHAFTS (4 FT. 0 IN. DIA.)	151.90	69.30	221.20	LF	221.20	\$786.70	\$174,018.04
		0070	0340	7011205	ROCK SOCKETS (3 FT 6 IN. DIA.)	60.00	89.20	149.20	LF	149.20	\$678.00	\$101,157.60
		0070	0350	7011300	VIDEO CAMERA INSPECTION	4.00	2.00	6.00	EA	6.00	\$650.00	\$3,900.00
		0070	0360	7011400	FOUNDATION INSPECTION HOLES	100.00	62.00	162.00	LF	162.00	\$140.00	\$22,680.00
		0070	0370	7011600	SONIC LOGGING TESTING	4.00	2.00	6.00	EA	6.00	\$5,100.00	\$30,600.00
		0070	0380	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	292.00	16.00	308.00	LF	308.00	\$84.50	\$26,026.00
		0070	0390	7027000	PILE POINT REINFORCEMENT	8.00	0.00	8.00	EA	8.00	\$105.00	\$840.00
		0070	0400	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	63.20	0.00	63.20	CUYD	63.20	\$805.00	\$50,876.00
		0070	0410	7034215	SAFETY BARRIER CURB	575.00	0.00	575.00	LF	575.00	\$68.40	\$39,330.00
		0070	0420	7034221	SLAB ON CONCRETE NU-GIRDER	778.00	0.00	778.00	SQYD	778.00	\$445.00	\$346,210.00
		0070	0430	7059903	MISC.NU 44 Prestressed Concrete Girder	779.00	0.00	779.00	LF	779.00	\$303.00	\$236,037.00

Page 5 of 10 Revision 4/1/2020



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
200117-A02	J1S3140	0070	0450	7123610	SLAB DRAIN	16.00	0.00	16.00	EA	16.00	\$520.00	\$8,320.00
		0070	0460	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,120.00	\$2,240.00
		0070	0470	7161000	PLAIN NEOPRENE BEARING PAD	6.00	0.00	6.00	EA	6.00	\$310.00	\$1,860.00
		0070	0480	7161002	LAMINATED NEOPRENE BEARING PAD	12.00	0.00	12.00	EA	12.00	\$250.00	\$3,000.00
		0001	5001	6189901	MISC.Contract Bond	0.00	1.00	1.00	LS	1.00	\$34,573.00	\$34,573.00
		0070	5002	7019901	MISC.Additional Cost Associated with Redesign of Bents 2 and 3	0.00	1.00	1.00	LS	1.00	\$56,118.56	\$56,118.56
Project J1S3140 - Total Value Posted to Date as of Report Generated Date										\$1,549,993.87		
200117-A02 Overall - Total Value Posted to Date as of Report Generated Date											\$1,549,993.87	

Page 6 of 10 Revision 4/1/2020



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J1S3140

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	2031000	CLASS A EXCAVATION	4/23/21	5/3/21	110.00	CUYD	Job Limits	08+53.27		20+99.00		Payment is being made for the completion of Class A Excavation on the project.
0040	2035500	EMBANKMENT IN PLACE	4/23/21	5/3/21	2,039.00	CUYD	Project	0.161		0.397		Payment is being made for the completion of Embankment in Place performed on the project.
0050	2036000	COMPACTING EMBANKMENT	4/23/21	5/3/21	244.00	CUYD	Payment is being made for the completion of Compacting Embankment on the project.	0.161		.397		
0190	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	4/29/21	5/3/21	2,450.00	LF	Centerline	8+53.27		20+99.00		Payment is being made for the completion of centerline pavement marking.
0280	9031250A	U-CHANNEL POST, 3 LB	4/23/21	5/3/21	123.00	LF	Bridge ends	0.161		0.397		Payment is being made for the installation of 12 Type III Object Markers on both ends of the bridge.

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 4/1/2020 Page 7 of 10



## Line Item Adjustments by Estimate

Contract ID:190315-C01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1S3140	0030	CLASS A EXCAVATION	Price FUEL		19	Dec 16, 2020	SYSTEM	(\$28.20)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					28	May 3, 2021	SYSTEM	\$1.54	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$26.66)	
			Price FUEL - T	otal				(\$26.66)	
	0030 -	Total						(\$26.66)	
	0040	EMBANKMENT IN PLACE	Material		19	Dec 16, 2020	SYSTEM	(\$17,000.00)	
					20	Jan 4, 2021	SYSTEM	(\$17,000.00)	
					21	Jan 20, 2021	SYSTEM	(\$17,000.00)	
					22	Feb 2, 2021	SYSTEM	(\$17,000.00)	
					23	Feb 16, 2021	SYSTEM	(\$17,000.00)	
					24	Mar 2, 2021	SYSTEM	(\$17,000.00)	
					25	Mar 16, 2021	SYSTEM	(\$17,000.00)	
					26	Apr 2, 2021	SYSTEM	(\$17,000.00)	
					27	Apr 16, 2021	SYSTEM	(\$17,000.00)	
				- Total				(\$153,000.00)	
			Material - Tota	l				(\$153,000.00)	
			MaterialCredit		20	Jan 4, 2021	SYSTEM	\$17,000.00	
					21	Jan 20, 2021	SYSTEM	\$17,000.00	
					22	Feb 2, 2021	SYSTEM	\$17,000.00	
					23	Feb 16, 2021	SYSTEM	\$17,000.00	
					24	Mar 2, 2021	SYSTEM	\$17,000.00	
					25	Mar 16, 2021	SYSTEM	\$17,000.00	
					26	Apr 2, 2021	SYSTEM	\$17,000.00	
					27	Apr 16, 2021 May 4,	SYSTEM	\$17,000.00 \$17,000.00	
				- Total	20	2021	STSTEW	\$153,000.00	
			MaterialCredit					\$153,000.00	
			Price FUEL	_ · o.u.i -	19	Dec 16, 2020	SYSTEM	(\$164.50)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					28	May 3, 2021	SYSTEM	\$49.96	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$114.54)	
			Price FUEL - T					(\$114.54)	
	0040 -	Total						(\$114.54)	
	0060	MISC. AGGREGATE	Material		26	Apr 2, 2021	SYSTEM	(\$12,534.90)	
		FOR BASE			27	Apr 16, 2021	SYSTEM	(\$12,534.90)	
					28	May 4, 2021	SYSTEM	(\$12,534.90)	



## Line Item Adjustments by Estimate

Contract ID:190315-C01

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
		·	Туре	Adjustment Type	Number	Date	Ву		
J1S3140	0060	MISC. AGGREGATE	Material	- Total				(\$37,604.70)	
		FOR BASE	Material - Tota	I				(\$37,604.70)	
			MaterialCredit		27	Apr 16, 2021	SYSTEM	\$12,534.90	
					28	May 4, 2021	SYSTEM	\$12,534.90	
				- Total				\$25,069.80	
			MaterialCredit	- Total				\$25,069.80	
	0060 -	Total						(\$12,534.90)	
	0260	SILT FENCE	Overrun	Overrun	3	Apr 2, 2020	SYSTEM	(\$27.50)	
					17	Nov 16, 2020	SYSTEM	\$27.50	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.50000 - 2.50000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ı				\$0.00	
	0260 -	Total						\$0.00	
	0380	GALVANIZED STRUCTURAL	Construction Stockpile		6	May 19, 2020	SYSTEM	(\$6,030.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		STEEL PILES (12 IN		- Total				(\$6,030.00)	
		,	Construction S	Stockpile - To	e - Total			(\$6,030.00)	
			Construction		5	May 6,	SYSTEM	\$6,030.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Stockpile STMI			2020			
			- 1	- Total				\$6,030.00	
			Construction S	Stockpile STI	VII - Total			\$6,030.00	
			Overrun	Overrun	6	May 19, 2020	SYSTEM	(\$1,352.00)	
					17	Nov 16, 2020	SYSTEM	\$1,352.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',84.50000 - 84.50000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota					\$0.00	
	0380 -	Total						\$0.00	
	0420	SLAB ON CONCRETE NU-GIRDER	Construction Stockpile		19	Dec 16, 2020	SYSTEM	(\$15,917.21)	Payment Estimate Item Adjustment generated Stockpile Transaction
		NU-GIRDER			23	Feb 16, 2021	SYSTEM	(\$15,835.59)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$31,752.80)	
			Construction S	Stockpile - To	otal			(\$31,752.80)	
			Construction Stockpile		5	May 6, 2020	SYSTEM	\$31,752.80	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$31,752.80	
			Construction S	Stockpile STI	MI - Total			\$31,752.80	
			Material		19	Dec 16, 2020	SYSTEM	(\$86,775.00)	
					20	Jan 4, 2021	SYSTEM	(\$86,775.00)	
				- Total				(\$173,550.00)	
			Material - Tota	l e				(\$173,550.00)	
		MaterialCredit	MaterialCredit		20	Jan 4, 2021	SYSTEM	\$86,775.00	
					21	Jan 20, 2021	SYSTEM	\$86,775.00	
			- Total					\$173,550.00	
			MaterialCredit - Total					\$173,550.00	
	0420 -	Total					\$0.00		
	0430	MISC.	Construction		19	Dec 16,	SYSTEM	(\$110,630.04)	Payment Estimate Item Adjustment generated Stockpile Transaction

May 4, 2021



## Line Item Adjustments by Estimate

## Contract ID:190315-C01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1S3140	0430	MISC.	Stockpile			2020			
				- Total				(\$110,630.04)	
			Construction Stockpile - Total					(\$110,630.04)	
			Construction Stockpile STMI		5	May 6, 2020	SYSTEM	\$110,630.04	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$110,630.04	
			Construction Stockpile STMI - Total					\$110,630.04	
	0430 - Total							\$0.00	
J1S3140 - Total							(\$12,676.10)		
Overall - Total							(\$12,676.10)		